Oriental automatic door

rail strap
| 4] 4] S

s = controllor

tail wheel

P : hanger o . -
!g-. “ s “;'-
1 m = - » motor

door stop strap connection device

Oriental

Japanese technology

Hi-Tech

Automatic System




1. The title of each component

ESihala s Tail wheel Strap

Controller

| Track: Door stop

Tail Whee| Stra . Connector

Double -open strap connector Controller
Strap

IWIOLU

(LK Hanger,

Door stop/ / Hanger Hanger

ORT150D

W Single-open

Motor

trap Strap connector LONIOIEr  Matq
Double -open strap connector

Track Hanger Door stop

Hanger Door stop Hanger Hange




2 Listof door operator parts

& Instruction

ORT 120D

Form e ghe-cpen oktle-open

Door weight 90kgX1 |70kgX2
ltem Spc. | Photo Q" ‘b
Motor OTDM0682 E 1 1
Controller |oromosse| | 1 1
Strap OTDMO0605 1 1
Track OTDM0608 1 1
Wiring OTDM0607 1 1
strap connector OTOMOG04 1
fct)rnanpe ctor |OTDMO0603 1 1
Door stop |oTbmos06 1 2
Tail wheel |oTbMo602 1 1
Sensor OTDM0685 1 2
Hanger OTDMO0601 2 4
tl%iéection OTDM0609 2 4
Warranty Card 1 1




4. Installing track

B Cut size of track 1 1. Cutoff the track

: Surface mount Track: L=W+A+B-5mm
OV Qe (5mm-outside the end installs the lid 2

parts of sizes)

*Notice:Do not damage track when cutting,

orinfluce the function orlifespan.

2. Drillthe screw reservation hole on the
doorleaf and the doorframe.

3. Drill the screw reservation hole on the

ALl W B track .
\D f 4. Fastenthe end cover with the attached
00f iramé  Door fra:‘e self-tapping screw( 5x20)into the track

firmly.

5. Fastenthetrack withthe self-tapping
screw into the leafand the doorframe
firmly.

*Notice: + Please make the track tobe level status

* Do notdamage the track,or will influnce

functionor lifespan
+ Do not appear the tapping screw,or will

stop operate smoothly
*Notice: « Carry on strictly types of bolt ,space
installment and amount of screw.|f not,
: itwill causefall.
¥ Installing groove

“Please construclaccording to the
above-mentioned main points 1~5.

*Notice the hole gap is 400mm when 18
installing groove. Cover exterior

Construction method fortrack
2 3
Track

Self-tapping screw
/]

Door leaf

57 \35

150

Cover exterior
Selftapping .

IO Doorframe 6




5. Installing track (continue)

ORT150DSection map

Surface mountng /
opening postion "
installation screw \
crosswisegap is400

N—
N
Topully
center 2.7
b ’
- ’
-
F
(2K)

12

To doorframe hgnging
center (vary fro
21.510 32.5)

L45)

3.3

7




6. Installing motor

Molor device 1, Set up the sensor wires in front of motor.

Notice: ifcarelessly opercction in the following
steps 2,3,5, it will cause fall.

2. Putthe accessories into the upper trech of
the track.

3. Make surefixinto the lower trench.

4. Move the motordevice to the right side of

track.
5. Install bolt seat.

6. Putthe wires which attached to the sensor
throuht the upper of motor, and then extend
to the left ,to avoid ptosis.

Installing parts

7. Installing motor

Notice:If carelessly in the following steps1. 2,
it will cause fall.

1. Putthe controller device into the lower of
the trench.

2. Make sure fixinto the lower groove.

3. Move the soft-wire of the motor to the connection
position.




8. Installing tail wheel

Tailwheel device

Notice: A If carelessly operation inthe following
steps 1. 2,it will cause fall.

1. Putthe controller device into the lower of the
trench.

2. Make sure fix into the lower groove.

3. Move thetailwheel tothe track left,and
tighten the installation bolt.

Installationparts

9. Hanging door

1. Installthe hanger inthe designated position.( if carelessly, it will cause fall.)

Hanger installation location drawing

fa N\
Aluminum,wood, stainless steel frame doors .
Double doors Single door
e v L e [ [
AN iz ==
/ /
A

Tounghened glass door
Double doors Single door

AN /

Mg pid|
R III}TII/LI LA

\Notioe :The use of electric lock(option)is 210--230 y,

Notice:whenistalling, the pulley centreof the hanger should be made in parallel status
with the door frame.If not,it will cause to shorten the lifespan of pulley.
2, losetheinstallation boltof the pinch-hanger device and then lessen the
pinch-hanger fixed position.
3. link the hanger pulley tothe track .
Notice:Please do not damage the inside components of the tracks or itwill create parts
failure or shorten the life of pulley,noise, and such as abnormal noise.




10. Installing hanger

evice

.

M8X30)

delinking Spring washer
installed bolts

HMHanger installation position

Pulley centre @tsidg

11. Hanging door stop

1. Loose the installation bolt of door stop.(heagon bolt:M8)

2, Make sure fix the door stop into the track.
Notice:Do nothurttrack.

3. Move to the opening position ofthe door,
confirmthe door stop position.
_Doorstop Notice:Do not hurt track.

When setting up the position of door stop ,stop
9 after wilision with the washer.

4

Installation bo

4. Tighten the installation boltby wrenches
*If carelessly,it will cause door breakage.

10




12, Adjusting the height of doorframe

Hanger Hanger Lk . .
Sigle-doct ] Double-door 7\ e as the left figure, whenthe door is unable
— s ﬁonzontd mst@ling ,and then make the
instaliment adjustment.
1. Loosen bolts.
2. Make construction and installation with the
O 0 adjustable bolt
_~ Rise the revolving door in clockwise
_J|Gep Bl b ~__clockwise
The adjustment sequence of construction
!__a.n_d_ installation height Notice: If there is something carelessly operation in

thefollowing steps3. 4 itwill create fall.
ZAdiustable bolt rice 3. Tighten the fixed bolt

4. After confirming the gap between track
lower part, fix the hanging bracket escapes,
the gapis 0.5mm.

5. Confirmthe walking resistance.confirm
whether move the leaf withan forefinger,
walking below resistance at 600g.move the
door,confirm thatthe pulley of the hanging

3 bracketdevicerolls in the track.
if the leaf migration is hard,confirms the
following items inorder to recover normal.

Reduce

) 1
Settled screw(M8) ... ’

Track
Amplificatio « Confirm items

r 1. Whether the hanging shelfinstallinthe doors
H vertically.
2. Whather thereis the friction between the lower

stops of the door and the tracks.
3. Whether thereis the frictin between the
by pinch-hanger device and the track.
Pincher-hanging device 4, Whether thereis the friction between the
hanger and horizontal frame.
5. Whether there s the friction between
doorframe and leaf.

janl
0. Smm

"



13. Installing belt

Single-open 1. Dismantle bolt A(MS5),and take the fixed strap
*strapinstalled steps offthe strap connection accessorie.

2. Referto the strap cutting off digram, cutting off
Strap conngctor - Strap connectionthe strap.

\ 1 accessories Notice: please cutoff the strap in the centre of bottom.

\| / 3. Intersect the both sides of strap,and putthem
00 tothe fixed machine.
H Notice:Do not distort the strap when installing

n/;. ‘ 4. Install the strap fixed machine to the strap
LA (J|  connection accessories.

Notice:Please note the direction of the fixed strap.
5. Hang the strap to the motor besides the strap
wheel,then hang to the tail wheel.
6. Refertothe above-mentionod picture,installthe

installation bolt,and to fix the hanging shelf
Notice:Use the wrench 1o tighten the bolt.

2

Strap cut-out diagram(single-open)

e )

The stardard for strap cut-out size L

W=700~1, 000 [

L=(DW=-100) x4

L=3,700

Notice:the above-mentioned caculationonly isa standard,
please adjust as confirm the real size.

12




Double-open

*strap fixtures installed steps
strap fixed device

\Strap conneclion accessories

1.

Beltfixtures installed
with bolts

Dismantle bolt A (M5),and take the fixed strap
off the strap connection accessorie.
Referto the strap cutting off digram,cutting off

the strap.
Notice :please cutoffthe strap inthe centre of bottom.

Intersect the both sides of strap,and put them

to the fixed machine.
Notice:Donotdistortthe strap wheninstalling

. Install the strap fixed machine to the strap

connectionaccessories.
Notice :Please note thedirectionof the fixed strap.

. Hangthe strap to the motor besides the strap

wheel then hangto the tail wheel.

. Referto the above-mentionod picture,install the

installation bolt which attached to the strap

fixed device,and to fix the hanging shelf.
Notice:Use the wrench to tighten the bolt.

/ 2

Strap cut posjtion

%&M

-
The stardard for strap cut-out size L
L=8,200
Notice:the above-mentioned caculationonly is a standard, |‘lj* .|'P' .|
please adjustas confirm the real size. )

13




14, Installing double-open strap

*strap fixtures installed steps

Strap conneclion accessornie
- SR e ns1 Dismantle bolt A, take apart the strap fixed

\ 1 P—G accessories from the strap connection

0\ 0 accessories.
2. Refer to the diagram,cut off the strap.
Notice :separate the strap from the centre of bottomn.
0 3. Crosswise two sides ofstrap,putittothe strap

settled place
Notice:Donotdistorte the strap wheninstalling
. Putthe strap fixed accessories to the strap

connection accessories.
Notice:Note thedirection of the strap fixed

accessones.
5. Hang the strap to the tail wheel thento the side

of motor.
0 . Install the installation bolt (M6*12)the attached
00 strap fixed device to the position as the following
picture.

0 Notice: Tighten the boltwith wrench

anpnnrhndannnnn

Strap ‘ Strap cut

2

osition

Beltlixtures instatte

Strap cut-off table(double-open type)

[ Strap length=(DW*3+250)*2(Unit:mm) ] Strap cut-offtable

DW (mm) |Srapkngth(mm)
Strap-eerespondence table 600 4, 100-4, 150
DW {(mm) 750 5, 000-5, 050
€00~1, 067 [The strap length e B T
Standard hich attached 850 5. 6005, 650 |
ngine device = Al 5, 900~5, 950
Special |y p6a-2. 500 860 6, 200~6, 250
ordered > NKAB112041 1000 8, 500-8, 550
Lengthis 21m
slrap 1067 6, 900

P,

14



15. Installing double-open strap(continue)

@ “strap fixtures installed steps

strap fixed device

9
BoltB Double -open 7. Adjust strap tension Please refer to
2 strap connector Page 15 adjuststrap tension
00 8. Make sure two doors be closed .
0 If need lock by hand ,Please lockit.
Strep 1 9. Dismantle bolt B (M5),take it apart

from the strap settled accessories.

10. Installthe strap fixed accessories to
the strap, fixed on the double-open
strap connection component.

00 11. Install the bolt of attached strap fixed
0 accessories as the following picture.
Notice :Tighten the bolt.

12, Tighen bolt B after changing the door
1 2 Tighten position slightly

17

Belt fixtures installed with bolts

W Strap connection accessories of double-opentype

Double -openstrap connector Strap connector

15 Hanger



16. Installing double-open strap(continue)

1. Tighten the strap from the left of the
tail wheel,and to install the bolts.

2. Loosen two screws A
3. Circumrotate the screw clockwise to

adjust strap tensility,then make strap

to be appropriate status.
4. Atlast tighten two screws Ain turn.




